\///
2D

@ SCORE (H9A) %A - 22 pdf 1 13.04.16 5 4:51 @

LinguaForum

- EEEEET ES

&
//\\




002-040-1H M &t 2014.12.5816 PM I | | 2

CHAPTER

Unit 1. Food

Vocabulary Preview p.11
A 1.lifestyle 2. nomad 3. serve
4. elder 5. guest 6. grain
7. store 8. practice 9. funeral
10. related
B 1.d 2e 3c 4a 5D
& o3
guest &4 elder SZAt
serve (S412) AiUCH practice AHaiCt
funeral &fz{A! nomad 7=/

grain ==
related 2= &
produce A5

Al
observe &olC}, EGICH

lifestyle 2ftiA]

update =lZe| FH= AAlSICH
convenient H2|5t
traditional 59

Reading 1 p.12
1.® 2.® 3.0 4.Q
Visualize the Text
(1) guests (2) elders (3) wave
(4) chopsticks (5) standing
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@& That's because Chinese culture strictly
observes more dining rules than most other
cultures do.

+ Thats because ~ : 171 HIZ ~
Ct of ojn|2 o™ o CiSt OlRE L& of M,

« observe : oIt (HA 58) &40l =
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observeE CHAIGH0] M1 Z4Ql.

For example, no one may sit down to eat
until the guests take a seat.

* no one ~ until . : -8 H7EX| OFFE ~QICt
* take a seat : Xf2lof Stct

@ Chinese do this only at funerals to offer the
rice to the dead person!
+ to offer : HEX|7| QBHA f Q0|2 =X Liet

L= 2A SYol toR YA,



Reading 2 p.14

1.3 2.0 3.® 4.@

Summarize the Text

(1) moved with their animals

(2) grew their own food

(3) stored grains and vegetables

(4) don’t have time to cook

f
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@& The oldest groups of people on Earth lived as
nomads.
*as | ~EMTXIA

AnswerKey

@ Later on, as people began growing their own
food, they could produce large amounts for
the winter.

* later on : LI=0f

rr

SOHTISAN

[ =

cas . ~olHA, ~af

@& Most people are so busy that they don’t have
time to cook.
50 + YEAEAL + that ... : HF ~aliA] --BiCt

Unit 2. Pets

Vocabulary Preview p.17
A 1.cage 2.bacteria 3. feed
4. risk 5. patience  6.nap
7. climb 8. realize 9. useless
10. advice

B 1.c 2.d 3.a 4b b5.e

& oy
feed 2H0|E FCt
bacteria 2{E|2[0f Al

advice &1

risk &
patience 224
cage S2l, Y
nap %% useless A& Sl=
climb @2t

happen (¥ S01) ZH4siCt
carry (#2) 7/, X|Lict

realize 7HECt
suddenly ZA7|
cause 227|Ct OF7[lCt

skill 7I=, 7Is
Reading 1 p.18
1.© 2.@ 3.@ 4.Q

Visualize the Text
(1) playmates (2) patience
(4) trouble

(3) healthy

(5) noise (6) bacteria

(A) O AlHE2 02t S=25 7I12= X0| £0] HF 0| 7=
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to have a pet2
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Reading 2
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(5) the snake was coming closer
L

(3) the cage door was open
(4) cried loudly to wake up

Summarize the Text
(2) someone was coming

(1) took a nap
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much work.
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@Y Some people say that having a pet is too
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Finally, pets can help children keep healthy

8
Answer Key
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4 WOl YAEIS B CHIRD BAED} Ol0) B2 LTt
= HOlM SAEIY 22 K2 S20| Wo| T[S U 4
2ic,

@Y [ will tell you about what happened today.
swhat2 "~ 2 9 ojo|2 MAAE HFloh= 2
AlCHEAY

@&J He put me into a cage and took a nap next to
it.
- take a nap : F&=2 Aot

@I When it finally showed up, I almost stopped
breathing.
« show up : LIEHIC

* stop + v—ing : ~5h= A

o

T

@Y 1 cried loudly to wake him up.
*to wake up2 ~2 77| 2l 2 Qnj2 =X
S UEl= AN 899 toREATY.
«wake him up : (SAt + 2AHS| SAH0| =4
OIZ CHBAD 2 8%, SARE AL Alolo] =,

Unit 3. Camping

Vocabulary Preview p.23
A 1.cabin 2.ride 3. busy
4. homesick 5. leave 6. counselor
7. activity 8. wallet 9. archery
10. send

B 1.a 2.d 3.b 4c 5.e

£ o3
leave HLiC
counselor 7t2&2, (HIYEO)) X|=At

homesick &4 ride (&, XA S2) EfCt
x|

activity 25 cabin @59f%
wallet X|Zf archery &, 47|
send =LHCH busy Hh#

watch 20}, X|7{£C} hard g&, Hz2

AnswerKey
fun Ao later LIS
win 0|7|ct
Reading 1 p.24
1.@ 2.0 3.0 4@

Visualize the Text

(1) mountains (2) weeks (3) activities

(4) camp fires  (5) homesick

o, & Fof 010[=0| 6t St A wHHhh a52 of
CZ 7tz AL 252 6E Aol 7RI 6E Aol
00152 R 5 S EAIS MLt Aot HIS7E =2 Z7I01M X
HC} Ol OF Aooll= AL X=wAPE ACHL 252 A &
eSS BT, OS0A o2 7HK| Adss 7tEEn.

O o202 279l el &VI= oitt OS2 22t ¢
OflA EoiM Ut 00| 252 €S2l et 2Lt tHEEe
Ol0|E2 YEZ (S YEE Z0KRITL BE 0E A=Y=
0= 2350] o[ ATt 0PIE2 +B= o, TS EY|= ¢
Ch. 282 AT mMO[0iE ofr =2is FEr 18 U522 &

S s 120 BS0f Btk ST e
o

9| Ol0IE2 Z0teiThe LE0] Et=lg 2, Buto] S0{710f

They are away from their parents and home.
«away from : ~O0i|Af [HLtTH

@ There are usually a lot of fun activities at
summer camps.

* There islare] : ~0]| QICt,

Answer Key
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Reading 2 p.26

1.@ 2.® 3.3 4 @

Summarize the Text

(1) writes his parents a letter
(2) he has a lot of fun

(3) who is a good soccer player

(4) he will go mountain climbing

(2 51

Altet= 2daf o

Amof| = X| 357t QIR © o717t UE 0kg0ll S0l A
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CEER. 25 20 2. AZsie.
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Answer Key

€ We go canoeing every day.
+ Qo + v-ing : ~atz] 7ict

Next week, we are going to make wallets and
learn archery.
* be going to—v : ~& OI™O0|C}, ~&F Zo|ck

@ 1will see you in two weeks.

*in two weeks : 25 20f, 25 /o
Unit 4. Travel
Vocabulary Preview p.29
A 1.pray 2. important 3. stay
4. resort 5. activity 6. private
7. avoid 8. respect 9. travel

10. tradition
B 1.b 2.d 3.¢ 4a b5.e

& ofy
travel O3li5iCt

private ZH2IHQL APKRI

stay HF2Ct
resort 2|2E
activity = pray 7|=sit
tradition TS
respect &4
hardly 72| ~2ict

avoid Tlsict
important &2t
choose MEHGICE

wear &t rude 2t
provide AZstct
Reading 1 p.30
1.® 2.@ 3.0 4. ©Q
Visualize the Text
(1) convenient (2) culture

(3) local (4) activities
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LCh o222 2 22BN HEVIE S = Un, E=
O|ofHRES Hhe SEHS MEfS & QUEUCH 2249] Ad8ioll=
I B0l AU Helgls EotAlue? 2F0E 2|xE
7t E2 MEYUCE 2|=Es A0 S2E MStHH, HHE2
2 X0l Mo|Us 2SS0] UsUCE ofx|2t 49 Tiget ==t
= 719 2 4 EUCL BX] AMHES T 71312 27| el
= 2o HR2s A0| ZHEUDL O AMHS2 Hek=20iAl AR
59| g dEE B0E AYLCE o[ Aoz HefE2 289
Z=lof cholh M of Bl tiE 4 UABUCE SHX(2E S o=
Mo|le 235= B0l 22 &+ gle AL

(2xis)

1 7i2lHjet HolM =25k F 71X] 2ol chsli 25k ¢
ol & Z0Ict,

2 Ji2lHiet gs oftid

=
F2= Z0il thsl 22

3 2REE Y XM £ 4 s 2E MHIASO0] Aol H
2loiCh= 00| QAT e,
4 DHBH @ SHKIEE @ ACt @ ofx[2iez
SHM HFs R g8s 238 7 2ol tial olop|
9

HoweverZt S0170F SITH,

e

But you can hardly see the islands’ real
culture.
*hardly : &2 canzt 2ZAF AIO[0] A 40 749

~g 4 Qlrf = Qoje.

@ To get a chance to meet local people, it’s
0 ~
71504
better to stay in a hotel. N
ZiZ04
+To get2 7IEIE 7| 2fHM of opj2 =X

LIt SAM SHOl toR A,

- to meet local people2 20| U= a chanceE

THEE SSA 8HO| oREATY,

« it2 to stay in a hotelZ CHAlGHE 70,

©
0%

The people will show you their everyday life.

Ib. 2 X .2
- — -

i

AnswerKey

Reading 2 p.32

1.© 2.0 3.9 4., @

Summarize the Text

(1) travel to Muslim

(2) to respect their customs

(3) to avoid eating

(4) you should dress very carefully

(5) you can show respect

=D

80|t 9ol Ole® =7iEs odE Zl=le Mie4Lnr
L K2fE2 2ol tish = 71X AFeSS ZOFF0{0F &
LICt oiE 8BRE 927K Oled =7IE2 2lotds 44
C}. 0] 7|12t S, &2t #&S0| Ho| JUsHC, 2ot 7=
of & Iehofl SAS ot TRIYULCE Lot Ols® uEsS2 &
= 0k &, HHiE T o= glgltt t2lge 289 Ha
= iz OE e geUth X2 S8 A0M S4E
HAL, == OA7Y, = FHIE Tifs dE2 Tlske XO|
Zglot 2ZX| o™ MHEE2 K2=20] i FHSICL 4
Zfgt 0|0 ofef=oll s L2 HE8s “2X= 2ELH. E
of, (2lE2 Ot FofsliM 22 Y0fof ity BiX|Lt oY

s

AFES YX| DAL, 0243t AES TMEC=ZM, A2
(=) (N

2 F71E9| MEOf g 252 LIk 4 QLT

(EXET)
1 ols® =7i29 efoftt 77k Setel S0l s olok|st

I A,

2 2foi 72k2 82olM 9Zol2g AIRfSh= M= 8ok

3 O =E30 %2 © &5t
@ st @ Xeigol U=
217k Fofl ‘they may feel bad about you."2f11 o &t

7te)zlet, 7|=ske A2
Rz GFEAS B CIYAUSE JEE 540

2 el

Answer Key
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@ Do you plan to travel to Muslim countries in Vocabulary

August or September? A 1 =2 020l R2k= S 7o 52 4 QiolCt
*plan to-v : ~&t A=olct 2. & 4ol 39 Xt AR | HEULC

- . . . . OB = 52 &2 Z0KIE =500 37| w20 1 47
&Y Ramadan is a time for praying and going 3. HlEt= ol 32 JOIKIE SE20I0F 27| Tzl =1 271

without food during daylight hours.
+ go without : ~10| ACIC}, ~glo| X|LhCt
* during + EE7[7F: ~3¢t
@B By following these things you canishow B 1. S201AE 020] AArel| ol S X2 P23 20lcy
@ ool HE @ et @ oE HE @
2 MEIIEE Heloit, T2t o Holl M= HESIC
@ Hz2lgt @ Fo H2 O Y @ o
3 Lo ZRRH2 O 0l &S AiHotA| foAirt,

@ L=t @ #Esitt © Mdisict @ MEoitt

o~

respect for the Muslim traditions.
*by + v=ing : ~ECE2MN

p-34 C 1. lifestyle2 7HQIO|L} EITto| AiststAl of ojnjo|ct
= 7

T 2 privaleS RE AR 95t 20| Of, Bt IO} %

AREhardb S 2ssuddeniy i sacate 3. avoio= ‘Al 2 OffF Zi0IAd Wik ©f ejnjolct

4. leave 5. related 4, cabin2 ‘MOt o ;'E K Ljea oE 7 of 9|
B 1.© 2. 3.0 olct
C 1.lifestyle 2. private 3. avoid 5 nap2 EZXk= & Sal Roll Xk= & 9 ojojo]ct,

4. cabin 5. nap

» English Usage

A 1. That's because : ‘171 HI2 ~0|7| w2olcf
. ~ i : EEF i E ~ Ot

A 1.because 2. until 3.s0 2. No one ~ unil . 17| OFRE= ~Elrt

. . 3. s0 + IYEMEA] + that ... 1 HF ~ali --3IC
4. swimming 5. were . _
8 1. coi 4 go + v—-ing : ~of2] 7iCt
. going - g0
gomg = g 5. There is + ©43HAL/ There are + 24FAL: ~0] QUCt

2. for - to
L . B 1. LT ~3HA -8 2 GiEF 2 9pQl (oo + HEAEAN
3. joining --» join ) } .
+ to-v) TES to CH30l ¥&o| efof 5122, goingS
gOZ IIXOF BITf,
CQ0lY k2 71ER0f0|, TIF0Z toRFHA 20| 2lof

SlE2 forZ to2 TLX0f Sict

4. to not leave - not to leave

5. follow --» following 2

3. (be going to—v) 722 to CIS0| ol 2ot 522
A 1. Most people are so busy joining join2 1IXo} SiCk
2. it’s so great to have a pet 4 t10FENE 2-E U= notS toFEAF ol 201 F0{0F

SfEE, to not leaveE not to leave= 11M0F SiCt
5 ~&o=zM o 9|2l by + v-ing) TH=0I22 follow

£ following@2 1Ix{0} SiC,

3. about what happened today
4. He is a very good soccer player

5. going without food during daylight hours

8 Answer Key
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» Making Sentence
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CHAPTER 2

Art & Entertainment

Unit 1. Music

Vocabulary Preview p.39

A 1. instant 2.surpass 3. milestone

4. catchy 5. contribute 6. repetitive

7. significantly 8. nutrition 9. stardom
10. unfathomable
B 1.¢ 2a 3e 4d 5.b

& oy

contribute O[HFX[SIC
significantly &3
nutrition Y (M2| 1+5) milestone 2t |
catchy (B0[Lt Z1 257h 7|26k | #k2
unfathomable =755t
stardom AEfe| £H

sensation 2 sHi|, 252 2¥27l= A

surpass s”IofCl, St

instant 21501

repetitive ¢S]
appetite A=
imitate 25iCH combine Z&/stCt

sacrifice 312

AnswerKey

Reading 1 p.40

1.3 2.9 3.@ 4.0

Visualize the Text
(1) 2 billion views (2) less than 2 years

(3) simple (4) repetitive  (5) easy

(6) imitate

=D

ot=9| tiE 7k Mol= 29| Q7] RAH|CIR UHARY H
20l ZAHER! AEtO] BIHo| SRACH A, LHARR 2 RF
BolM =3l 209E Uit RYTH FAH|CIL0|CE a2 2
0] ZH =IX| G2 ARl 2 HAOf =23

Molel gefo] 2 &= Aol ofs 217

78X 0127t QUCt Wiz, 1 w=2fe| 2|50
OfM O 7fst7| ok AITZE 2 S2 Y22 Hi7] A%,
AIFE0| a%s 2ot HX[0] AAZ Ti2C] H|DRE 2
71= oIt} OX2ez, I Hites B 4 gl 82 2248

(7) silly/ridiculous things

__—v—_

Ul & o= 2

N =P o]

- ]
ABICE MOl SAZARS WES sH=t], 17} sl= HEO|
SiX|T MBS 2401 MBIt of2ist RAS0| Hetslo] Szl

MAX &= OIZ BICIR7} BT

(EXETED)

1 ®I 22 J2EY 9 M 71X g3 2l el dEsi

AL,
2 O Z=xsict @ 7|sitt
@ et SiCk @ &7Ict
imitate= "2HaICH 9| 2J0jo]d, RLN0E= copy, mimic
S0] UL

3 Oess DA AR
® 2ol 2ls OF
UBHON F0| HiSY] ACF 1 Fome ARYS0| 1

&8 s 4 = opjolct

4 SES0IN 2 ZBAE 7125t 22 YHAEKY of 917

off tifet SAH0IX|, e17|9] ol7=z = = glct.

@Y The dance is also really easy to learn.
« AL+ to-v 1 ~op7 (el Bt

Answer Key
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@ These factors combined to create a video
that became an instant worldwide success.
« AMEO| AUE LIEtLE= to—v @ (T Zxf) ~5lct

Reading 2 p.42

1.0 2.@ 3.@ 4 @

Summarize the Text
(1) popularity of Korean culture
(2) intense training programs

(3) the leading cause of Hallyu

A2 Bl of Ofell SOEULR? J2 o=el 228 2|
SLICE SR 1990 =8 0|2 o= Z3tQ| Q7| &&S Lt
EfLICE 1 0= 2aif Ho1FY] 7IXS0l sl AS=UEH
Ch 252 o= ==t 201 et =2 &7f6ke 7101 =%t
gLth ef=el TV =2i0prt ol2fet =350 O[HIXIRCH, o=
tHE7te et & MAOIM, HXI0] 7t 01=0lMER 4E35]
R17|1S LUSUCE

EXO2t AU 22 a8S2 W A sE2 USoiA MdsS
gaUCh 280 3% =4, 122|1 HA Aoz REst o=

2| X (¢]

720 0127 K] &, weh, MAA 2, T2l MR 2=
ofel Fekofl UMM 2ais Hom ARIE B[ Tz, of={et

g2 259 B2 =3 Sl 2= AYLICE oA 2y

1
i=]
ol

S| L=2ok= AERSO| o= Z3j0] 70 2elg 21 U= =
Z(eFE 0181 U= A2 20| orguct,

(EXETR)]
1 922 312 2i= golof oojel B2 2slo] 07| QIS
S

2o |

2 O ~zet A=l el @ Hojdt nst =3
@ AZt Aot £ e =gt sl
217t IF20|M K-pop AEFSS| £30| oig&1 1, ot
X|8F 2Z0iIM hardworking stars2h= E812 Eall K-pop
ol ME2 159 U2 L=t s glERls o 4 Qltt
3 @ Theye & 2X9| Beijing journalists & 712/7|H, Lt
Answer Key

HAl= K—pop stars & 7t2]7Ict,

4 K-pop AEFSO| 7[&AfolA AT 7:d0] 0|27 [nix| B2

WECHD S W BE E2 U7 ¢ 4 el

@I The term was originally used by Beijing

journalists.
«be + WHEAL: ~ IO} oICH (SEH)

@& 1tis no accident that these hardworking stars
are leading the wave.
- It is no accident that 0 + SAf ~ : ~QI A
= 0| ot

it

Unit 2. Movie

Vocabulary Preview p.45
A 1.disagree 2. whisker 3. award
4. magic 5. witch 6. heroine
7. hobby 8. visitor 9. broom
10. quarter

B 1.a 2d 3c 4b b5.e

£ o9

magic 0f& disagree Btsict
hobby 0| visitor &EAt
quarter 42/ 1 whisker &
award 4 heroine G218
broom HXiZ witch 0f4

brave 225t win &S Efct
popular 27| U= smart =50t
spirit H&, =&, &

Reading 1 p.46
1.® 2.0 3.@ 4.3
Visualize the Text
(1) brave (2) quarter
(3) good-looking (4) smart

—
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AnswerKey
@B Reading 2 p.48
"s2 HE A2 MYt 71 Soksts FHolUuck J21m M (6
o mepot by B8 et wEUd ws bt M@ 2@ 30 4O
oixl FHElEfRtD M2HSHRIR, K| oJ7i0) Hitiste ARISS ol Summarize the Text
slgUC, SR 2= AMRISE 28 kg E0tot= 07t M= (1) the most successful animation directors
CISUC. 25 O M 8271 G2ASiAl GUe of oiis £ (2) The characters in his movies
OHLIR? 2kl SUSLICE 60H2 ARIS0| B Z20| Chesh o
e - = - (3) a witch girl in his film

ZUELICEL EHl0| He AIRISS sfalrt S26| H2o 22 @ ab e oonular cul

_ . 4) a bl art of popular culture
SO SELICH 1207 420] 12 17} 0E Hop| U2 § part ot pop
O ZOFEILICY, 10MMIES] AIISS sHz|o) ZM7I Q|2 ot Bet
T CHERSLICE 180 O M2 AIRISQI 33o| AfYSTI0| 1 @
7t EESHM ZO0FRUCE 7HY M2 282 18 E0fols HE 510F2 O[O |= MAOIA 71RF A3t ot g5t 2= = 5t
Ok Skt ERSUHN HLICE 10| Halse e A2 SXle. J2in 10| Hst &
(=) HEEISS ofF 97| QU 25 5 it EE2UL),

_ [ o510 O x| = XEHA

1 220l= s2 BEIS B0 of2f 0RS) et zag  Teee UOPWIS Seil ORE Z=2dA SasU

of F 11 Zmofl thah O[0f7 [t Tt

=
— XIAH ] = Orl= =0l=l— =
= Ol xEIM Z0lsle 2 = g0 )
(b)= Ok=2 EolA S0tsk= aS0(ch W2tM (a)= 60Y 122 S onjakx| 0|OFK}7|= 5t Ojd _4\_51 71710 EHOHM
S 10%21 6HE, (b)ol= 422|121 15BS LIEHHACE =

3 Gl2IEHE Z0i5ke 0lRz S48, S5, & d2 2=, Z0fok= Ofell LRULICE OfX|2e 2, 0j0kX}7 (9] Hat <%
OtsE ZoliMatn g, 22 E24017] Mol A2 o A slohel HFels0l UAsHet JHs 2 SiHYuc
EE N RS Juel I CHE 0152 AM0|1, J= S0 St 229t o 4

KR, EZ2| DjofA7| Sat £2f JH2IES2 Xl tis ==t

(EX T
1 @ ofioilojie] HAnt
@ slok= DIofRI7|9] L
@ DIoFRIZ (9] 17U FHRIES

@ AMZxol ofLiolM Z=0| == g

oo 1 — O=

€&F Watching movies is my favorite hobby.
z0f =
« Watching moviess SZAITZ F0{ &2t ot
O, ~oh= A2 22 siAlg, STAL F0i2l 42

SAl= 32 Mo B

= OjoFxEZ |2l Hafoll SZret odef FH2iEoll et E4g =2A
E&F Few people disagree with me. oF 7, 0150] tiE ==te 2 2E= AKIBictn s
«few 1 12| gl= ULt

o di ith : ~0f B3t . - ,
disagree with : ~Ofl ZTHSICH 2 Susuwalaric #2 Pix| 20|z 0S5t 1222 of|

@& And a quarter of the people like him because ofct,

he is good at magic. 3 D[oFXIZI9) OfLOOlY (OIRE EER)0| URE EEZE=
*a quarter of : ~2| 4829 1 20| M2o|ct

+be good at : ~= ESiCt
4 ©= Totoro= 7t2J7ICk

Answer Key



002-040-1H A & 2014.12.5 816 PM 10| %] 12 —QE—

@ Hayao Miyazaki is one of the most successful
animation directors in the world.
+one of the + zlatg + SBAL 1 Tt ~5t -

&9 ofLt

EEY Susuwatari, a black dust ball in the film, is
very lovely, too.
+a black dust ball in the film2 Susuwatari&
25 d%ob| flol MU=USH Susuwatarit

L=2740]|
SO

@Y Flying on a broom isKiki’s favorite way to travel.
01 %_M

« Flying on a broom2 SHAIZ F0{ &2 &

*to travel2 20| QU= Kiki's favorite wayE 1

= SEAH SYO| toFEATY.

o N W N
40
i}

p.50

Vocabulary

A 1. contributed 2. repetitive 3. whiskers

4. broom 5. witch
B 1.© 2.0 3.@
C 1.award 2. disagree 3. surpass
4. unfathomable 5. quarter
A 1.tounderstand 2.is 3. Listening
4. afew 5. was invented
B 1.being -~ to be
2. wrote -+ written
3. Learn --» Learning[To learn]
4, are - is
5. musician - musicians

Making Sentence

A 1. The dance is also really easy to learn

2. no accident that these stars are leading

12 Answer Key

3. because he is good at magic
4. a big part of popular culture

5. Watching movies is my favorite hobby

(EXET)!

» Vocabulary

A

K
i
<
El

g 10l dof 0lBHRIsIHCE
22 22 QILIZ OFElol THRiCH
o 4ei2 7p|2 et

HAIE 271 2ol HIXIEE AUt

>
rr o
°
I

o |2
r

N
i
=
u

us
2

]
imi
rrorr
Ral
(il
ot
HU
o
2
O
im
Hu
't
bal
g
i)

B 1. 1 dXiE o2 SZ3CL J2iM nignt MRE HE 22
FRARUSEX| AUt
D e48t @ 22F @ HARE @ 2B
2 1 of&7te) AwE AU 25| o
@O At @ U Ut @ Zysict @ 120
3. 22|Ak= gA7(of ezl EY ot ME RRE ARIC
O &2t @ g=3ct @ 50 )
C 1. awarde Z5 Uoj| s BACZ gh= Mo|Lt & 9 9f
olo|ct,
2. disagree= THZ2 ARZOIA| Bt o748 ZHX|CH ] ojo|
olct
3 surpasse O Z{ECt o STk 9| ofojolct
4 unfathomable2 0[alfot7[0f T &AL =R 2
olojolct,

5. quarter= OfE 49| 429] 1" 2| jojo|ct,

4

» English Usage

A 1. 88 hardZ RHFE BAK O] toRHAF XL,
2. Winning the first prize=

SAE 2489l is7t 210

=

=)
olo|of a few?t @f0F ©

= oITt,
5 a7t LHE 0|22 SSE(be+2HRANZH T,

B 1. Zofel ooz Mol= BAK 29| to beZt YT
2. MONICY 2t= 9oj9] EE) 2H0|22, besAt FHof
TIAEAR! writtene MOF BiCt

3 0 AES st= SYAIRIL QoF stE2 Learng



Learning2= 1140} SiCt,

4. Reading The Lord of the Rings series?t SEAITZ
0| A2 St22 SAt areE is2 1IMOF BTt

5. 7t& ~Bt 59| BlLf = (one of the + Zlaig + 54

HADZ musiciang S48?! musicians2 1X0F S,

» Making Sentence

A 1 1 E2 E5 HU2 HiRU| MM, ARIE0| 2SS =

gigr & Qlot

2 o= 2slof gl B1 Q= 242 0[2 AEESO0| 0|8
1 QU= 22 20| OtgLict,

3 422 10| 25 ZO0let=t| 217t DiEE Eobr| R
=

4 DIOFX7 |9 Gt £9| HFRS| HEHSER2 ok tHE B
sto| 2 HIES AXlst {Uct

5 SIS He= 22 W7h 7+ £0tsk= FO|0|ct

CHAPTER 3

Unit 1. Literature

Vocabulary Preview p.55
A 1.issue 2. danger 3. social
4. save 5. frequently 6. fairy
7. hero 8. tasty 9. terrible
10. event

B 1.d 2e 3.a 4b 5.c

£ o3
frequently A=, £5, fairy 28
hero &2 tasty 2=

issue sElIHA2| 2X|

terrible %/t

danger =
-

save ot

event At social Alg|Ae!

AnswerKey

appear LIEHLICH

I
unfair 25%ot

Reading 1 p.56
1.® 2.® 3.@ 4 @
Visualize the Text
(1) died  (2) candy (3) wine (4) animals

o2E2 S0l o £ &7 40| 55 SHlitke XS
OfLIE? A CHRES| S3jol= SIl= TUolLt Al 22 @
SAIS0| LgUCE SHX(2E @ 0[2{8t AS2 o S3iof L=
QSS0IA ZX|T2 AUXIRQ. AHE © XSS I el &F
UCL oIS S0 (MESH0IIM FUIS2 AlS =HOpoF A9
=S MELCE ot G T oM F oolS2 AEe=
DESOIZI F2 Ha, SiXet I otef oid= @ 258 Usol
ofzezin SLICH 0[2{8t 8412 ABdl= A2 MZ= A0 of
HUCE 22 4 & Tof oloplollME el 4E0IUE
Ch (QCIMopoIM FRIZEE 1Al RIS OiA S22 ¢
st
(EZET)

| #Efel 4ol 2 4+~ U

1 ¢ 22 33t olopr] &2 410
A

2 29

NSRS 3177} | SA0] S2foilM fIElel &&olzk=
=A7F 00X, SA0] fIglE Kokl erts 280l 8l
ooz @It EOH:L

3 @ b 0= 2F 322 7271 XL D= iz o =
ol MAIE & oIS & 7tel7 k= Zolch,

4 @2 @AEPE @ A @ o S
SH0] fIEe] 4ol 2 4 Utt= LS FHoil BES 0[0f
719 ER0il=
S s0fak=

@& Infact, most fairy tales show foods like tasty

OfEHE=R| Hestn ooz, B

ojn|7t £01710F it

_'_.

fruit or candy.
«like : ~ &= (such as)

Answer Key

13
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€ However, these are not always good for the
characters in fairy tales.
+not always : 2 ~of 242 ofL|Ct

@& But awitch in the house tries to eat them
later!
etry + to—v : ~3l21 MLt SIMLE

Reading 2 p.58

1.@ 2.® 3.0 4.Q

Summarize the Text

(1) one of the most important books
(2) a young white girl

(3) because he is black

(4) the world is not fair

(5) serious issues in society

Mol === floll M= ot 27t &2 (AT F0I7DE SHUE
LICt of A2 0= AN 71y SRt ME 7h=2dl sty
Ct 0] Ol0F7l= 1930E] D= gRolM LojLtz 0[0k7 |-

O e =] [}
02k= 0IR= =20l 7k AlFS0| 28 =4 @14 1
0IFE OlaliSHA| RotH, Mol =2SHsit= As 2| EUCh

>
ton
il
lon
>
N
ic
i
o -
N
o
N
A0
1o
C
n

(EXET)
1 (A2M F0[7D= Hel A9 =2 Sall Al 0= Atz
|

Aol Chal 00k (5t AT

2 Hofl thet FAERI LHEO] O|0iX|L = =30l At Hat
Of FEMloll tiet LHE2 S01717| ofAtisict,

3 o At E200l2k= OlR= H30| 7t ARSIl Aot

OOt

LS M

gole UEs Sall, 1 gils o L2 ASE SHX|
=3 S
|

Answer Key

-

4 OFALA) @=2ZH Q@ =SAHZ2A) @ Y
A2IA siRAel, =22l 2k Qnjo|sg, 2Af ke £
9| problems”t 71 Hlzet To{0|Ck

2 o4

@& This is one of the most important books in

American history.
cone of the + Z&g + =2FA ~ 1 71 ~¢F
&9 it

@ The story takes place in the American South
during the 1930s.
« take place : (A1 SO0I) LOJLITE LsICE

@Y The main character is a young white girl,
Scout.
* S0H)= S22 HEf

girlzt Scoutes SZEA Y,

=
rr
S
i
(W)
~
(@)
(=
>
«Q
s
=
@

Unit 2. Psychology

Vocabulary Preview p.61
A 1. psychic 2. reaction 3. palm
4. guess 5. trick 6. aquarium
7. caretaker  8.national 9. prediction
10. personality
B 1.a 2b 3d 4c b5.e
1 oy

reaction £t palm £t
guess =Z0lCf, &=
trick £ &t

aquarium =

personality &4, 214
psychic 0217t gzAt
caretaker #2/2!
national =7t2| T=%Q!

fortune &2 &

prediction 0{%, o
pretend ~?! =5t
actually &&=
match 27|, Alg

correct g=fet

—
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Reading 1 p.62
1.@ 2.3 3.0 4.3
Visualize the Text
(1) Hot (2) Cold
(3) something (4) nothing

=D

ToIS0| 0[2hE oliEsh= Hlol= 5 7K Feet Yol A&
Lot ofHolE2 &t 2ld & guitt &t 2ld2 ot gl
off thet & 7Kl AMESS 0lof €11 U s et @ 0
& Aloz Filof Eet ChE AES 2 == Aol g, gl
02iS of= A sl= A= H&UCL @ OE Fdols2 2E
2lg' 2 gttt © o HHoIS2 nl2iE ollSstr| el &
of 22 SsUth @ 2= 2oz Zol7t gl s
Of= 20| sit= GEUCH = Z412] M0t 21l ChatA
S5 gUoh O o) Bies RyAEA dula, G4
et Abd & 7IKIE ordut 22|nes O= & o FAEel
e 2x|el

1 % =2 FYoI=0| 0)2HE o= 1 2 MEsk= 3t 2/F

j—
1 =£ 2|gof Hal dHoi AT

2 =t 2[F olME FEolzt ol thet AR XIA0] L0
A

o
Al AT aZ0f thet = 7EK| A

F=Xlof chet

:
mjo
0]
St
ol

4 OZYolM= o 29 719I=l HHOl 2t nf2if 7t MBS

o
S NSl 20/ 551

1=

@& This way, it is easy to learn about other
701

things and pretend to know your future.

=~
Xl_l_l_

* It2 to~ O[S tidlstke 71501,

AnswerKey

- pretend to : ~@1 Ha}Ct

€Y He makes guesses about your personality or
your life.

*make a guess : ==5ICt

@& He carefully watches your reactions and he
finds out a few facts about you.
- find out : ~& LotLiic

@Y 1t's like a game of Twenty Questions!
* like : ~Q 20|~ HIZ5t

Reading 2 p.64

1.3 2.® 3.0 4.Q

Summarize the Text

(1) a psychic octopus

(2) During the 2010 World Cup
(3) food and a national flag

(4) chose one of the two

(5) won their match

(2 51

o2z AI—FS0] oi7E 2017F AT Yoks XS S0i= A

2M SBS1} 00p| B 4 CiT BT ©139) 0152 20|

1 3 S0l 5t AZ0) AUSLICH ©FL 20108 =Y

oF Falpt 052 BOIYSUCH OfZA olote JH Ut
2

(EXET)!

1 @ 229 A= 2010 2=ZolM HYel STE ofelet 2

Answer Key

15
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3 % 29 oI 220iM 2E F<R0| 20| M
715 01T =OoIRUTH,

@ Many people say they can talk to animals as

a psychic.
cas  ~E(M)

@Y Inevery case, the nation[that Paul chose]

won their match! 04

s

(252 BIHRA

olo|= MMAL the

SA
«that&S Paulo| MEHSIE' of
nation2 $Alsts 2XZ ZACHHARY,

@& 1ts strange, isn’tit?
« SR

st Mg FUelE=Y.

Aslojatn M2ishs M2 s

21517 @

cFUIOIEE g4l 30 + SA, =S AKbe, have,

can, etc.) + CiEAN, you, it, etc.)?

p.66
A 1.national 2. pretend 3. symbol
4. tasty 5. frequently
B 1.® 2.9 3.®
C 1l.issue 2.reaction 3. prediction
4. trick 5. fairy
A 1.doyou 2.wasn'tit  3.like
4.not always 5. during
B 1.don’t--»doesn’t
2.]Jason - he
3. Germany --» German
4. is - are

16 Answer Key

5.

leader ---» leaders

Making Sentence

A

gl N ONN =

. not always good for the characters
. one of the most important books

. clever tricks to fool you

. the nation that Paul chose

. it talks about social issues

(EXET)

» Vocabulary

A 1. XME si=20| SH=20lM 1 OIECH2 =710| ojAlojetn
MZESHCE,
2. OfH Ol0|E2 =tuof 7tn AX| 42 of OFE &S Sict
3 =M Wt MRk
4 1S9 M= ARUR SRICE
5 Li= S XF= ARKIEE Bo| $Xl= 4=rt
B 1. U= 1 #H¥E2 LS &Y 4 QIS M2t MZisH?
O 2ok @ =Haitt @ £0I0t @ Al=loitt
2 2 4EVIE0A= ME2 Zelok HietE= =0] Tt
OOE O alst @ E£5et @ olaet
3. 11 0[0F7l= 19M17| F=0ilA Ehict
O LARICH @ Wi @ 210| =RACH @ BHFACE
C 1. issueE= 'SF AfRl9] AIZE0| BAS JIXl= O 2 9
olofolct
2. reaction2 ARHQ| LZ0[L} EiEE HoFE BIE 9 9f
ojolct,
3. prediction2 ‘O[2ofl CHEH A& 9 9\DIOIEf
4 trick2 =7t £0(7] fl6l skh= A 2l Qjojolct.,
5. fairy= ‘0l 20| Q= S0I22 MHA[ of 2jojo|ct
» English Usage
A 1 Bool22e o 2X0| SHR0|H BEFRo= o 2X
0| 2HR0|H STECE &L}
2 Rl EE o =82l F017F AR A2, QI tiEAL
2 B0 0{0F Bt
3. like 1 ~@F Z2 / alike : HIXBH (FAL 40f| A0[X] 245)
ot always : &4 ~ot 242 OfL|Ct
5. during + 877t ~S0t / for + FAHER! AlZte] 4
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AnswerKey
Ol + ~Z2t & o3
B 1 2719|220 =0{7} she0|22 SAK= doesn' t7} 0] volunteer AFHSAR], SAMGITH  community XAl
of 3] important SRt unfair 25&et
2 lojzee o 2ol Foit BAel 79, OF o SN destroy HHEH
= uiof Zopof 3ict 12joE | S he2 HITOIO} habitat H5X] cheap ¥
ol ason= he _ _
, N storm =3, Z5F across ~iAoll Zx
sic|
o _ build %ICt educate nSsiCt Jf=x|cH
3 =M HA writer§ sAlcke FEAE German0] {0t humanity ¢1&, 212t free X222
sict. own XHAlo| ARSIt
4 Bothe= 'S Cf 2k= 9J0|2 SAt isE are® HFRO{OF SiCF,
5. I ~gt &9 sl = (one of the + Zldg + &4
BADZ leaders =482l leaders® MO} BT
Reading 1 p.72
» Making Sentence
1.0 2.@ 3.0 4.©
A 1. SXo| S3olM QISS0iA B 2 242 OofLct
2 0712 O|ZAOA] 1R Q5 S = shtolct Visualize the Text
30 % gtH D5 GAIS 207 QI8 7|2et a0l Tt (1) community (2) after
4 2= HR0), S0| MBS Li2p7E A2 (01 A OfZiCt (3) Saturdays (4) education
5 0] o[op7l= ofole] =2 Sall Al=lZAloll Chall 0lok7 |5t

7| 20l 1717+ ULt @

0l=0f s tHEEel nSstuet Sefuolids 159 stdsol

A XHESAL 55 AlZIDL S22 TS| XGMEE 57|
PUTh o™ LS slfofRt BTt OS2 SHE A A= AN =
2 U0l BN 252 B2 4 ot Os2 g9 iz ==
2R =t

u]
-

-
Ol

CHAPTER 4

M = OE o rio
ol

SOOI Mo RO

Social Studies

Unit 1. Volunteer EXET)

1 ¢ 22 AIESAES0| S0l 22 A—0| ==5 7t

Vocabulary Preview p.71 EXT MRIE O &7 E2 Sz UEH ofs u=9 &
et FE0[2l= XS Yol T
A 1.cheap 2. storm 3. volunteer _ _ )
2 U2 SMUS0| SMEES Z016HK| =0, 1 olfs dat
4. lesson 5. community é. important SLt E000] 30f 57| ot
7. unfair 8. destroy 9. habitat
10. across 3 SMEE iz =2 EX| Y=rt
B 1.d 2e 3a 4c 5.b 4 thise Hi2 o 20| L2 SHMS0| Wit 2L EQY0l &
AEEE olioF eith= NS 712lZIch

Answer Key 17
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i

@& The students have to do some work to help
their community.
* have to : ~&l{O}2F Bt
*to helpe ~& &7/ £l o Q0|2 XS LIE

Ue SA SYo| toR gAY,

@& It teaches the students to be good people.
steach + SEO{(AR) + SHEO|(toR™A) @ ~
7t ---5lEE 7t=X|CH

@& It also makes their community a better place

to live in.
S

+make + SX0 + SXHL0] : ~= 2[5 B
SCt

«to live in2 0l LE2 a better placeE 0=
= JEAA Yl toRHAT0IH, live In2 (&

At + FXADE O|R0E SAHLE inS ||

Reading 2 p.74

1.@® 2.3 3.0 4@

Summarize the Text

(1) Habitat for Humanity

(2) who do not have them

(3) built more than 500,000 houses

(4) money from many sources

oL ol
>
[
=
Inl

I

— qUn

o
2 RO2HH X|ggs L= B2 HEE0l as0A 7|18

Answer Key

S Un, e BRst MEEE 13 sict
Ao B A7t ofE AlES Qs TS KIS M, 2 AR At
|:|'§ E%OH H|5H %*ﬂ X1E—,':,48|-I:|- )\|-%I-9| Jé} 75\\7|E x‘jl P=ES=}
HE ge £2 o B2 2 Al o ARl
(EEETE)]
1T O &

@ ¥ TS = e

Q 22 T MAXCR 7itst ARISA TS XI0iF= At
SIEAEHC Habitat for Humanity of thgt 20|ct

J

2 Habitat for Humanity’ o] 22 Fig APSt =0| ALt
A

Mollz T e2 AMEEs =2 Fe A

3 Habitat for Humanity' 2 08 Xoz22E X|g2S =

O, 2 U2tEa £Re AM2E0| 7IRa5S Hot,

4 O R=9
@ frrE2
@ BloIU=
@ MEotX| A2
O7IM frees ‘220 2EZA0[al= 90|12 ‘unpaid 9
olo|7t 74E SAFSICE

2 B4

@& They do not have enough money to buy a
house.

« enough + HAL + to—v : ~5t7|0f| S26t

@ Many countries give money to them, and so
do many rich people.
* YoM B Zofl Cielf ~&= E5t 2L 2k= 2]
2 (s0 + SAt + FON7E A2 40| beSAO|H
(besAt + F01), H0| LRISAO|H (doldoes,
did] + 0D .
@ Also, the house is not free, but it is much
cheaper than other houses.
«much, still, even, far S0| Hlug ol 2H =

W ~BFojeks Qojz 4,

of
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AnswerKey
Unit 2. Capital City EXER)
1 2E= 3 L2 27t Us =A0IH Z2iM 71 SR0t
Vocabulary Preview p.77 7% St
5 = (A=k<13 A AL I
A 1.special 2. burn 3. capital 2 NYSOIHE RIS ged 1, 28 &0 /io) 2es
. ) . . ZHS0A 2 H=2tel LHX] X|of tiet s & 4
4. visit 5. fight 6.imagine )
2N tHEEC| =71S0] =5 OFSEZ 20[211 oIt
7. rest 8. president 9. against

A SEAL L =1 = 0ot|C]
10. government 3 SEohert 3 LRlold JH 2 ZAls ofuic,

B 1.a 2d 3¢ 4b b5.e L OMEE @25 QTVE @ TRE
them2 244 HiZ 2P 2H0| L2 AS(people)2 712

£ o9

government &= capital &=

visit e2sict rest (0 Zi2)) Lo

special St imagine AASICH @Y Every country has a capital city.

fight WCh president CHE - Every + T GAF+ H5 SAH: 2E 259

burn et against ~0f 2:A @& So, most countries want their capital to be

usually E_%, CHA| probably Ot} verybeattiful) oxy DL

finally OFEILA nation =7} _

finish OtxICt, ZLict et + SO SEEOMOFEA) - ok ot
7| Holh

@ Every capital has something special to enjoy.
 E———

Reading 1 p.78
1.@ 2.@ 3.0 4@ « —thing2 2 ElLi= U2 ASAP} FHOM FHE
«to enjoy= 0l LI= something specialg I
Visualize the Text HES SRA 20| (0B HAIRL
(1) government (2) biggest

(3) Visitors (4) country (5) beautiful

=D Reading 2 P80

PE =7k= 70 U YHAOtE £E7F ZAFHIO|C), TEA 1.@ 2.0 3.0 4L @
= H2[0[C), AFRL| Of2tH|otoll M= 2[0F=0]Ct £t S 1

10
oA 74 2 EAIS OfLIXIRL Ytz s s A | Summarize the Text
o 3

: 012 (1 Lgte)) MEIF Ao 97| W2o|ct (1) the capital of the United States
AZEO| 2 L2IES YiRE 1 158 BE AL Zict & (2) chosen by America’s first president
E= 2SS0 I L2tel LA 22(XI)of tiet 2= &Lt (3) all states satisfied
Ot LZfofl SOl =t QT AfedohiEe), 23, WEAiE2 (4) burned the capital city
010 1 Uers Z0fekil 8 AOIH, ek, tishzel =718 (5) rebuilt the capital
2 59 270 YES| OFSCHY B0l HiZtT), mielollid= of
L2 =20 olss & 4 Uk =39 HAoM= =28 3
ug §Z 4 ok BE 452 52 4 o syt covie (EEEAD
ZEX| QT 0j=2] = AT D.COICH 2Lt Jilz T e A

Answer Key 19
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2 Unit 3. Ice Age
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Vocabulary Preview p.83

o

Ct

o] 9

AN —

2 4EE 2T Ao M2 k=N se me 552
I:Il_} |

F=E]

o

L

ZAIZ 4 Qe 2ol ZeFC) 1789701, 0j=e| =i tis A 1.age 2. alone 3. weigh
ol A AdHE M2E 58 UM AdE DC= of 4. giant 5. cave 6. northern
Z0I= A5HK| UURACE 0l Aoz o Rk Cf2 FECt 7 cold 8 weather 9. warm
SEEIXIX] = 4 UAUCL 10. peace
Mz2 =5 71dsh= dle o2 a7t 20k 1800H o, =

XSS DIEL (SE2H2) OFfCH (0IR)ERS aignofoly B b za 3d bco Se

HYH D.C2 /AL 0I=elE2 159 M =01 i< ot

Zaolf Ct 18124, 0j=2 F=0l thesto] & SHLfel = X £ oy
U, G=0IE2 M22 +=E SHRCL B2 2E Ay =0, northern S%0i| ¢[x[et S22/ cold &2
0|=01E2 O 5 CHA| AA3ict weather ZM| age AltH, Al7], Lto]
cave 2 weigh A7t ~LI7

(EEET) alone =Xt warm (56t
1 0= 2=9 ££01 el Xgel £E=21 faH giant 7{Cigh 72l peace &=t

D.C2 &7 = 0IR2 M2e & 718 & 0|2 45 cross A4 last Ofx[=i<)

o SiA0]| Chall Adeistm uct place &4 terrible %It 2ot

need (~2) ZL=2 ofct
2 0= zx9| = HatEm|oric

3 2E FE0| 22 20 HoiFD D=2 2 52 UE
Al £ Qs g0l it
L M2 = Adst| 7iX] o szt 2l =0 HEE 2 Reading 1 p.84
Mot N AE D.C.2 AU
1.® 2.@ 3.© 4 @
sua
= Visualize the Text
@& Butdid you know that this was not always (1) ice (2) people (3) bridge
true? (4) south (5) people
+not always : BIEA[EM] ~Bt 242 OfL(C
EEY As anew nation, the United States needed @
a way to make all the states ha .
oy | PEY 17,000 of, & MAS U4 XP7HR RARICH 2200 Opxat
cas V2N &S |Ct Yoty = 717t 0l RPHEE Al7]

+to make 0/5k= 0l U= a wayE FHF= & Clo| CHEEO| x|} 12 22 X|Ho Lfa% 7 =g
EMNE SO toR AT, LB FFHH UACL T A= QIR S2S 2S00 i
*make + SA0] + ZAEH0| : ~2 --=Z[517] Bt Ol A|7|QCH £238H SA120] ¢i947]| TR0 | ct

St gst7| Moll=, E0ItHE0[Lr HOItHSol Q1F7F AX| Ut 3

@ It tookyears to build the new capital.

t
LI 2I5t7] =50l AAOIRRE LA O|0K= st
_ = eJ[es o2 5 = 7L =0
oIt takes + (AR + AlZ + to—v : (7D ~Bl= SHHE Ch27h UL QiRe o Yolti2lS AR 252

AL

o o] Alzi0| Sct JZoz oS BoithE YolEos Sojgit Wit
TY 2T, 20/9t Yol T8 BE X0 2IR7t AL

20 Answer Key
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(EXEE)
1 ‘ice age'= T MAQ 7|27} 01 AZHHE WotAIHE 7t
2|7l= Zolct,

2 dstAciol= S&et

SA0| 7| =0l AR S=55
SFOIA o2 A7 IR

3 Wsl7| S0t 2fAlojolA LeATIZ oloixl= Walthalt A
71, 0] Cl2|Z Eafl MRS 20|29t Ho| tiEo= 0S5
AT}

N

4 Ls| oFol=

€ 1t was avery hard time for both people and

S0[2 HOIHSF0ll AFo| AX] Ut

animals.
*both A and B : A2 B = Lt

@& There was not a lot of food.
* There + besAH not + 04 : ~0] gICt

@ Atthe end of the ice age, there were people
in all parts of North and South America.
* At the end of ~

ol Eoll, ~7F 2 FE

Reading 2 p.86

1.® 2.@ 3.3 4.@

Summarize the Text
(1) fought bears for caves
(2) needed for shelter

(3) bigger than today

(4) in fights with the bears
(5) the Earth got warmer

O
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Ral
am
ron
ol
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30
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N
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o
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AnswerKey

T
ol

Pl Altie] S52 2529 SS20t 20 GX7t 3T,

o o= =1 A I-

2 20mES| 7/0f, 2,00002ES e SRAE Ad &7
UAUCE 2NSE Lot 560N F2IE X0 1 JACL 2
se =2 HELR HoKIth &= R0l A2 AFIA oA
2 LOIRACE, W2 AIZS0| St MO =RACH

JefLt Z=ols, 2F7H of Snel oA olzic X5
Ab OSSR | 20l Aot S52 IR 7= &oilMs A
ofz 47t gLt Yol |7t 2 78, 2E S20 25 7{tiet
Seo JUL, AFs EaEA A o AU

(EXET)

1 O =22 9t m

@ MAIM 7t 2 &
Q@ Xltof s}
@ Ofx|et st

F

P 22 0 5| Altholl S=S T2 IRt & Ao[2

Tdof st £ =0Ict,

3 T Hm ==holl sk | AlHe| Ao SS52 5~60r2d f2
£ X0 AT LIACE

Zaiel MBSO 0IZC
e IS0 B2 4 B

=]
—
7F HolHM S550] BEMSE L o UCL

@ 1twas a war between people and bears.
* between A and B : A2t B Af0[of

The bears of the ice age were much bigger
than any bear today.
*muche Hlugs ZEsI0 8N o ~3F 9l 9f
=)
« H[Wg + than + any (other) + TEHAL: CH2
O ~REE G ool

@& Killing the bears was hard for the humans.
0] =
« Killing the bearse SHAIEZ F0 A

]
mjo
o

Answer Key
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Unit 4. Archeology

Vocabulary Preview p.89
A 1.huge 2. temple 3. century
4. ancient 5. famous 6. mystery
7. region 8. emperor  9.island
10. face

B 1.a 2c¢ 3.d 4b 5.e

& og

century AI7|, 100
region X[, X2

ancient 2o

famous Rt

emperor K| island

huge 7chist mystery =77, OJAE2]
face ~2 sfaict temple AHH

attack ZZaict warrior £t

amazingly Sz tear 40, Si=Ct

heavy #7142
Reading 1 p.90
1.® 2.@® 3.0 4.3

Visualize the Text

(1) Peru (2) Mexico (3) city

(4) warriors  (5) Spanish  (6) Spanish
=D
OfREIZT} Q7IE2 1ol ZES0IUC A52 Aol &2 Al
71(14~16MI7 ol HRAXIE CHE XH0lA HUTE OI=EIE2 O
AZ ROl %1, J7IE2 TR0 AU d7ES 259
ARl O EER  UEN Qo a2 HlA AEkof U
Cf, 332 A=50] DX|0o]7] miZof 2ol 227k= A2 e
SISth d7IEe ME2 AUloM ass 43—74%* o gt o

N
Jﬁ

0
=2
40
O\J
]
kJ
Qlok
i
H1
20

Q
o
IS
wW
nm
2
| >
=
2ol
>_
o
I

(@)
%

T
I
o
o
i

et M=o IUT 259 HE0 AFESE Ti2k0|

o} 4Es B i|E|EE+0|Ot+ OIxEHES Hoft

FI
>
o
0%
£

Answer Key

& G2 oTtel o] M=ol HEH HEL MEEs EE g 4

EEER
.8 =2
1 #2222 Al7lof ZRE 1o & X! o===1)

71Z01 gret LIEo|Tt,

2 0OpX8f 20| s2E 6T5| OfREIERS| 121 AIRSS
LYY 4 AT AU,

3 ODZAE @0RE QXEE @OIEE
region2 K| 0l2t= 9|0jo|=22 @FH areas®t 9J0|7t 7t

4 DOZHZE @ YIS @ 0TS @ QA M3y
1S BiZ Y 220l U2 0EERMachu Picchug 7ta)

B

@I The Incas are famous for their city, Machu

Picchu.
* be famous for : ~2 RHIC
@& Getting up there is very difficult because it is
01 SAb
high in the mountains.

* Getting up theree= SBARE 0| H=2 &

@ Their buildings and temples look like
pyramids.
*look like : ~XM&E £0|ct

Reading 2 p.92

1.@ 2.@ 3.0 4.9

Summarize the Text
(1) huge stone heads

(2) they are big and heavy
(3) how they were built

(4) tore them all down

=D

79| BE AfFO0| T20|=f AHIA| oA L ACE SHX]

—
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2t O|AE}Y2l 2010[0f 2tSiA Ok A2 BEX| SdTf. 20i0l=
O MES0ICE IXS2 0|AHEC] Aol A2, HICHE et
Sfl UCH R2010|= 71010}, P2l RS0 2l A2
Of= Z0] it

OIAEM2 EfEel 2T8 Holot, 7H 7I7k2 =Xk= 2,000
Ot EOoiH AT ZO[0IZ B AMHS2 0IAE ™o OfEA 2t
=717 2010 of JhE TE7| RliME ofol= 18 01y Z2S
Aolct aRE 2=l o2t e 30 247 thEo|nt S§
A, 0l2{8h Mefo] 5007HE Gl RUCH OlAHHC] AS2
O Ol HUigh 4SS JgAL Bol 2 4~ AUSHI?
AeiRtE2 L HOfRiT SRX|Eh £ OfE et 2ZH0| U
o 252 20P0IE 2= 20| 2Xs 25 oi=0] Kot 25
2 i asSH?

1T @ MAS ojAEzZ| Q=
@ AAOIM 7t 2 AN @ ¢
to] &

? =2 0|AEH9l =20

ofo| Aol nlAEfa)
Bfl=et A=A
18401 Tt DIAEIRI0] CHh O]

OF7[otar QAT

3 Moai0l| CHEH 22 20| YA UX| @211 04715| OjAE2|CE

= OEX20il M AR %OI Moaig 2= = 2F SI=0HH
a

2 o

@ But not many people know about the Moai
on Easter Island.

*not many : EX| &2

2Y We know almost nothing about them.

+ almost nothing : 72| ~@iCt

@Y This is because each head is very big and
heavy.

* This is ~ : 0|X2 HIZ ~0[7| Z0|ct

@&y After they built the Moai, the people of Easter
Island tore them all down.
«tear down : (A= S23) 520, F=Ct
* SAL+ RAZ E SAS SH07t tEAL0|H

SAE 2H01 Holl =.

AnswerKey
p.94

A 1.owner 2. faces 3. unfair

4. cross 5. destroyed
B 1.® 2.0 3.0
C 1.volunteer 2. mystery 3. capital

4. cave 5. ancient
A 1.and 2. for 3. like

4. 10 go 5. sweeter
B 1.wear - wears

2. don’t know --» know

3. goes usually -+ usually goes

4. money enough --» enough money

5. special something -+ something special

Making Sentence

A 1. much cheaper than other houses
2. the students to be good people
3. not always the biggest city
4. a time of very cold weather

5. Getting up there is very difficult

(EXETE))

» Vocabulary

A 1. 0] TRt xfo] ZOI2 LTI
2 22| ze Y= gstn Urt
3 Li= SZWt (40 30 ST
4 22 249 T TAksHet
5. Xt & £ulo|=7t ol FS 2
B 1. LK= Ol 201A 3~42 FE 012 Zolck
Dol @tieE @A @ Hat|
2. 201 S S 2RI A2 HR YRl
O B2 it @ 712AC @ 42k @ Bt
3 719 FalolA PiRISo0| B3 xRS Zsict

B2t @ Wolstth © YIS DXLk @ S5t

Answer Key

—

23



24

. volunteer= "B BIX| 9411 22 Sh= AR 9| ojojo]Lt,

. mystery= “AHot7AL 0l5He =

capital2 "1 Lt2te] M2t Ql= SR$H =Al 9] ofnjo|ct,
|

caves 10

r
08
p=)
r
o
rr
Lo
M
10
|0
=]
(=)
n

I
o
2
i
=
T :
>I
o
o
b
>
3
sio
il
10
10

a N W N =

_ancient= 0
ojolct

» English Usage

A 1 both Aand B: A% B & Cf

be famous for : ~2 SHEsICH

. look like : ~XH Eo|ct

It takes + (M) + Al + to—v (71 ~oh=d] -2
AlZtol ECt

5. Hlxg + than + any (other) + TfEAL: CF2 O ~
Hote of -8t

N O NN -

B 1. Every ti20ls ©4SA LIQOF G122, wearE

wearsz 110} Sict,

2. Not many XEdof '&X| &= of £
don't knowS knowz2 1170F Sir,

3 usuallyet &2 HIERAE LELSA 0 282
usually goes® 1x0f Sict

4 ~oprlofl S28F S 2lolek= {enough + HAL + to—v)
20|22 money enoughS enough moneyz 17
OF Bt

5 —thing@z Zli= Y2 JSAVL FoIM FHFERE
special something= something special2 1Ix{0F ot

ol ojo|rt ez

» Making Sentence

A 1 0 2 2RI OILIXIPE CHE FS0 Bl EW MESICt
2 %2 SkiS0| E2 AR0| 2 4 JUESE 7I=2FI0
3 25U S T LiRlolM 7 2 SARI 2 ofLct
4 sz 71271 02 XPEHE AlZ|0IC,
5. X2 Ak&O TIX[tholr] miEoll IR0 SePke= A2
0iS BlSCt
Answer Key

CHAPTER 5

Science

Unit 1. Science Knowledge

Vocabulary Preview p.99
A 1.stand 2. thin 3. less
4. wonder 5. feather 6. cover
7. swamp 8. desert 9. space
10. clothes

B 1.b 2.d 3a 4e 5.c

£ o3|

feather 2= cover HCt
swamp = stand Al RACH Mt
thin &2, 7t= desert A2t

wonder ==aloltt
clothes £, 2=

strange 0|45t

space 37t
less o &2
wet X2

entire ©xQ| =

easily £71|
Reading 1 p.100
1.@ 2.0 3.3 4.

Visualize the Text

(1) wet (2) heat (3) one (4) lose

[}
1]

=0
g2 ti2lol= Aol gisuct Act as2 oAl s34 5
€2 AN 2, 22 ggs| ZAPH A7|1= gfuch 2%z

b

ol

]
10

Cr2lol M E= wiStot 2T, mat, 2 SX01AM o o

i
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AnswerKey
2|2 M QEUct o] giHoz w2 Hg 9IX| iUt Reading 2 p.102
1.Q 2.0 3.@ 4. @
(EXTETE) Summarize the Text
1 @ o] Jottx] &= 0l (1) a lot of sunlight
@ =iolAl 71y 22 Ha (2) cover their entire body
3Sto AFSE A1
@ =tel offet & (3) lots of clothes
Sio| st Ci2|2 M Q= 0]8 .
_@ _| f2l= A I+ . (4) between the skin and cloth
sto| §t Ci2|Z MU= 01RE AYst Zolct
2 S22 ES 2 wiotd 4 U= &R ZH0IA A7 IR0
st ri2|2 MM HRE RXISItH=E LHEo] 20|tk E

ofol: 2int 23t 20| oiR.

3 0| 32 SOl Xig BE s Ao I + VE oy 1 soi0(LL ofor?
=01 Ol S TVOIA Al Lizlol A= ARISS 2 ase

L @ = Ysixlx| o 25 Be 22 9T Qoje, SR AlBKS HL SR,
© gusl 2 =2 Als)y| sl R2 X 20iof BHK] StR?
@ ol=cte ook M, 171 SRl ES MIOBITL St Al
@ TolRl Slofl= 30| L B0} 1EiA ARISS 150 2 XA
well-knownE "E 2aizl ofat olojz @ famouset = 7120} 3%, T%K| QOB 1SS HAS 2 A
olniot 7kt blzsict ok= 47} 9lo],

2 J59 =2 72
£ Diet 37t QUoi. 0|A
-
0 Af2fel NS AlsHl alf Z=HTt

@Y Cranes are very well-known for standing on

one leg.

« well-known for : ~O2 A UZ{Z

- stand on one leg : oF CH2|2 ACt

@ Feathers cover cranes from head to toe to (EEET)
keep their bodies warm in cold weather. 1 ¢ cthslollA Hofzb HZ2I0|0|AH YT X}F 5l T2 e
=X SxHof 2 ARolM= gEet ROz 52| S5 AlRIth= A0t

*to keep2 RXI6I| LM o QOjE =XS
LIEfLE SAR 29 toREAY,

*keep + =X0] + S0 1 ~2 - HHZE ]X]
aict

Af2to] 1R SHHS Blo| WH SIS UL Yol E &
A7) WRof, AlRtel MES2 7l R Yo 1RS Bt
il

, M2S S RARICHE L9 th=lo|ct,

€Y Moreover, they usually live in wet places like

lakes and swamps, and the water can get really

cold.
‘like : ~ZES 4 2M O ReLeiME £2 Y202 el BES
. get + SRAL: (~AEIZD ZiTt Sofl A0t 010|= A0 AX| b=Ci= MAE 58 2
QlCt,
Answer Key
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@&F Shouldn’t they wear less clothing to cool
down?

L RAP} Gl ZBAIQ| OJR2O| XL (RSA

?
+to cool down2 ‘€S Al5|7| Qs 9 ojoj=2

=85 LELE 2AA 8| o2 AT,
@& Or they will get burned and sick very easily.
+ get burned : stAS lCt

@Y The clothes cover their bodies, and there is

space[between the skin and cloth] for air to
=

space
flow.

« between A and B : A2} B Ato|of|

«for air to flowe &7|7t 3285t 9| on|= ¢

0 LE2 spaceE THFMH, for air= to flowe]

ojnfel =018,

Unit 2. Astronomy

Vocabulary Preview p.105

A 1. already 2. believe 3. research
4. dead 5. universe 6. religion
7. punish 8. article 9. magazine
10. Pope

B 1.b 2.e 3.¢c 4.a 5.d

& oy

universe £+ Pope &

believe 2Ct religion 1!
research ¢1=15tct

article 7|Af, 2

punish 3L
already 0[0], EM
dead =2

complete 2=5}Ct

magazine ZX|
reach ~0f O|=Ct
mean 2|0[5iC} project L2ME

right =2, StiE

Answer Key

-

Reading 1 p.106

1.0 2.0 3.0 4.9

Visualize the Text
(2) Earth
(4) gave

(1) sun

(3) moving

f

S E M AR—FSE2 EBY0] XF FRIE =2 Ut d2RlE
LIt SEX2E A0 M—HSE2 T2 BRAEHCL 16M710l, 2
H2LFAE EfYO| 259 SH02tn Y2RsHeh, 12|n
Jd= X727+ e S =01 YASLICE ot B2 A—S
= 0 2= Z05HK| LU

Jse O o] XS] Suof gok= o2t Rist
C. SRXIZH O[F2lorel neixiel ZE|es TH=LFAIL &
Ot AEUCH 2EQE X771 2011 Uth= A 39
BT O2ln a2 X Sl et AMES HERISUCE
SHAIRE g2 7t Si+to] 2ol A= 2 o thsh 2= URls
LCH we 20 29 ol St & BiS mux] 2 A
= FIEUCL 2|0 2 e AKIQ| HTE LLUsoF s
Lt SHX(2F @54, Rele FHEUFALL 2|27 SUC
= Az €1 AXIR

3 =9 =0l wgo| 2 0A 19| ol St HiS

HE0| Li=2Lt,

B
I
Rl
=]
N
mo
0
o
iul
(L
-

@Y Hundreds of years ago, people thought the
sun traveled around the Earth.

« travel around : ~FQE =Ct

@G They thought it was against their religion.

—
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« against : ~0f| Bthsh=

@& But the Pope punished him for writing about
his study.
* punish + A2t + for ~ @ ~0f CH3H ---0f 7 ES
>t
@& And Galileo had to give up his work.
*have to : ~alofRt STt O ojo|2, WHE Liet
4 = had to2 AEE

- give up : ZL7[stCt

Reading 2 p.108

1.@ 2.0 3.0 4.2

Summarize the Text
(1) very far from Earth
(2) they are already dead
(3) may not be dead

(4) for millions of years

(5) just thousands of years

L)
n
[l
g\__l
0
]
iy
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%
AT
o0

rnr 2 rlo
i
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>
=
il
e

0 27

B
nE
un
10
i
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Ral
-
2
H
2
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(EXETE)
=20l= SHE 26l 2ol thall Htotn A 2o E
0| XI5l =2t [7EK] 3 H0| Heltks Au E52

SHRF ES Mo A S5 22 =ACH

-—

2 EH0| X0l E=AfGIHEH e AjZI0] Zaln, T2 EY
=
=

Of X|F20f =21 M 1 EE2 0[0] =2 024 424

]
[

-

AnswerKey

3 O2Zn Qo sH Q@ AE2 @il
E20] X720 =267 iRl 4 H0
Al

=0| 0[] =RtE Aot WZIRHK(EL, A =
ATHE MRS AMEA 27 =IUCH M2ty BiRIolE S8
AZ0I7F S0{710F BiCk

[l
L
[
Iy
O
o
il
I

>
0
Q'E
=)
2
o
pal
H
H
M g
_|T|_
S
H
roh
ron
Ao
o
=l
N 4
02
12
[Tl
ol
iul

@Y 1 was researching stars to complete a big
science project.
to complete : "&=at7| Al o ool =X
2 L= toR-AIRL

@& People say that stars are very far from Earth.
« far from ~ : ~0{lA Z|(of)

BEY According to the article, it takes some stars’

light just thousands of years to reach Earth!

A INFS to—v
« according to + FAL: ~0f [H=H
« It takes + (A) + AlZF + to-v [= It takes + AlZF
+ for 284 + to-v] : A7t ~5Hed| -9 Azt
o] Stt

Unit 3. Spiders

Vocabulary Preview p.111

A 1. easily 2.stomach 3. bite
4. deadly 5. spot 6. insect
7. rope 8. climber 9. poison

10. medicine
B 1.a 2b 3.d 4c 5.e

Answer Key

—
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i

& oy

easily &7 stomach ¥
deadly x|[Z=2l bite SCt

spot & rope 2=
insect & climber S47t
medicine < poison =

mostly tHF2 dangerous &gt
t

powerful 25t dislike 40{otC]

helpful =20| ==, {elst

Reading 1 p.112

1.0 2.@ 3.0 4 @

Visualize the Text

(1) Americas (2) web-making (3) females

(4) males (5) poison

=D

MiAIM 7+ RS Hol= S /I=R0ICE S == 5
2 O|thSolM AT} =24 $IE$—E JrE 2 Holsg A= 70|
olct ¢z HOlE2 2F 1.521x] Fxol 37(o|ct 252 44 A
DISEC 2 O 30, O isich iz 30 7o(et 4 7
0I5 &7 78 & U0 RS2 ol 2 FS 7K1 Ut
S == Ui Yot =2 T Tt a2 YEHe| =
SOt 158 o XIFXoIC, S Y=eS2 o B 2ol THX|
Aol =0k2 ARZsh7| HZof, STCI siiM AlRZ0| F= 4%
= 79| gitt. HIS Ot sto2le, S YI=R2RE o ¢
o= A2 G2 iR 02 4~ Ux, o 71of & 2ot
ALk

(2x52)
1 @708 2412
@ 7oizg Arists Y
@ 2E 7iojs9| oig
@ 7plel £
9 22 22 Sl=eals 2l tish Astn o, S

SAE0 M o 30 et A Aolof chisi 2Fstn

Answer Key

3 X R TEoN Y30l £AED § 30 o st
gick

4 O 2
@ AU 23 =2
Q@ A =3 =2
@ =
SHAE=R0| =2 MYst= A= 2 HIZ o 2Fof| Lt
2 Z(poison)2 7I2I7ICt

@Y They are much larger and more dangerous
than the males.
«much, still. even, far S0| Hlug ol 2H =
W ~5t 0lzk= QjoIZ MY,

o

@Y You can easily tell the female from the male
spiders.
- tell A from B : A?t BE F-2alTt

@& Because black widows only use a little poison
in each bite, their bites rarely kill people.
e rarely : 79| ~5IX| =

Reading 2 p.114

1.@ 2.@ 3.@ 4.9

Summarize the Text
(1) hate spiders

(2) really helpful

(3) that eat our food

(4) would be very bad
(5) strong and light silk

(6) make medicines

nE2 &8ss H=d, o : é IJEIOI 7iD|E jOﬂ
Xpelo) 212 1000817 g= 2552 H2 + ATk 242
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7007 SITHE, MAol=E W O B2 25501 A 2 X0zt
= A 9oleit), 2 Z&5S0| 27t Ha S48 2F Hol &
20 P2(of 42 T LA Zdoct

Holg2 tE YYo=k 221§ = 702 Hilgs X
7| el A=E BHECE 0f 3= Ui Lol o 7iEH. <
2z aANCzRE SES S0 o+ T 0] BE2 e
Jolth. St7iE2 &5 0|XEE 0I8%ith f2l= Lt /0|9
23S FH0M ol8eltt ol & =At= =301 2 4 Utk
ez LR oS /0|9 S0IMFEH S0, J222, O
2o Falo] HolE 20HH, 22is F0IX| Zof2h a2 <2
9 z|n9| =20| & sh4el Zdo|ct

EXET)

1 @ 7ols Y= XS 2ol

@ <2l9] ==0|, Aol

Q@ 7olz R2IE fle 2328 U7

@ 70|29 So|M E2 of

0] 22 tEECl MEHE0| 7HOIE 20fsIX[Z HOIE2 At

S0 0ie =aict

2 0
0g dagn

i
N
nio
2
i
i
=)
X
0
Q'E
Fl
:0
M

29 Mz F=20 E22| ARS0| HoIE Aofoiar A
HZIeith= LHE0] LI=IACE

3 7njel o2 YRl og BE 4 V| 2ol =20| 2

4 9/t et

N

4 O3 @70 QEE @St
them= =My HiZ ¢ =80l L2 S&(ropes)z 71212
=

@ That means without spiders, there would be
far too many insects in the world.
« Without + EAL 01 + would[could / should]
1 ~0[ gictH, & Ao|ct

- far too many : M G %2

@ We can make ropes from it.
+ make A from[out of] B : B2 AE BFSCt

@& So, the next time you see a spider, don’t kill
it.

o next time + 0| + SA}: CF20| ~&t (o]

AnswerKey

Unit 4. Dinosaurs

Vocabulary Preview p.117

A 1. asteroid

4. disappear

7. dark
10.change
B 1.b 2.d
& oy

rule SX[5iCt X|dfatct
disappear At2tx|C
dark o{=2

different CH2

2.brain 3. happen
5. find 6. hit
8. problem  9.rule

3.c 4. a 5.e

asteroid 4244
happen Zo{Lic}, st
hit S=otct
change ot
problem =4
HMEel=  suddenly ZAH|

constantly Z810], 7l

Reading 1 p.118

1.@® 2.Q 3.0 4L @

Visualize the Text

(1) asteroid  (2) cloud (3) sunlight

(4) dark (5) cold
<=
6,4008F & K| SEE2 XIHE XHIRCL o 3552
S ZX(o @ 20 o}ich oEH ZJEE2 T2 UK
oF 04 XIHHR! AFFTO|AC ZLE*HI x| 2E ZE0]
=QITE 1 Y2 o1 a| Loikict 1008 Hojgh AlZE S0t
2E SES0| O ARk 22| ?é UO| UAE L7
s 257t E2 AL
sd UFER9 HeiXE2 Mgt Aol XFE S|
M=ol SES0| QUL AZfeit), AdNE SFELH 2 7
CH HIRIQE 22 A)olCh o] Aol X| [of 7Hciet BiX|
TS5 USRUCL 0] 7E0| LS XM, T Y= F
{0l BMACE SEE2 F2 7120 Aok & gt O
A OS2 =2 =ACHESIUCY

i

Answer Key

29
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EXET)
1 0 22 XS AHIME S80| Aol Z==2 BEH

L OO
202tz MeIRE9] d2ts M o,

o

==

2 0| 20iM 6,4008F ™ 7IX| SE0| X7 XIHHSICI7E A%
go| S== BEICHL Heu2, S0 A AZlE O

=f 6,4002F & HO[2f & 4 Uk,

o=
2o i, =2 7|20l & & SlE S8 =US
Zolefn WZsiez Z52 Adld mEol &S Aolet
nFEg 4 Ut
@Y Unitil 64 million years ago, dinosaurs ruled
the earth.
< O7IM rule® SAER ‘SAloitt, XHisiCt of ©f
0|2 Ml

@Y Within a million years, every single dinosaurs
disappeared.
« Within ~ 1 (Z4, AlRE 742, He]) ~0lLio]

Reading 2 p.120

1.0 2.0 3.0 4.Q

Summarize the Text

(1) mammals kept living

(2) live in colder weather

(3) they were warm-blooded
(4) found new ways to live

(5) to keep looking for

JEE2 T2 /IR0lIM A £ giUV] mi=zoll SRACEL 2Lt of
H S2S2 Mol 1SS ERRYC, ERRSS Z8S
1= 02 SR ZRFe 223520100, 59 (s 2
Answer Key
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=), IS2 AISsiM HE A Hoforat

Q2 52
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52
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rr
ro
Ral
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2
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il

(EXET)

1 0l 22 ZR/F7/t 8= 22 2gs20107| 2ol =
PfME AC| 2Foll MSsITEAM HOolHUL, HE AE

Z0F CHUEAM XFtedof Zef HAA =RACts AE 2ot

al

Act

AN

LHEu LX[SHK| =L,
1 Os9] MilE gs
[0 S =UCHs LHE0|EZ 22U they= S&
=
=

712171,

o

I

1

gQ

2

Rend

m

€ Mammals were very different from
dinosaurs.
« different from : ~2t Ct2

@Y They found new ways to live.
S

10 live= new waysg FHF= SEAA SO
toREATLY,

@

Cold-blooded animals can go for a long time
without eating.

« can go without ~ : ~gl0] ZAE 4 QlCt

i
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p.122
A 1.dangerous 2.reach 3. happened
4. brain 5. flow
B 1.® 2.® 3.
C 1.wonder 2. feather 3. research
4. bite 5. deadly
A 1.have to 2. for 3.and
4. from 5. Within
B 1.has--»have
2. to --» from
3. must --» had to
4.as - to
5. must - have to

Making Sentence

A

1. not to leave his house

2. wear less clothing to cool down

3. the next time you see a spider

4. every single dinosaur disappeared

5. stars are very far from Earth

(TR

» Vocabulary

A

B 1

Ral

2
3
4
5

o

P
0=
:Ox\__l
N
IS
rlo
40
oot
gg

)\IMHR’? Mz 770l EX] 20,

12
ozt
k=)
=
bl
opt

NS
o
N
=]
>

ro
= ¥

Odizz @22 8= O3 d2 @ 78
AR, 49l TiEo| 11 W A2 S2

. deadly= ‘&7 StALY,

AnswerKey

2O

s @ =388 ©E=2

®

otote
=X1=

.wondere 27118 7| RTtof s ZZatstck
o| ojofolct,
feathere ‘A9 B2 H1 Qs 7iHT 2E2i2 A 9

olojolct,

. research= AM[GHA i FHIS H55iCH 9 Qjnjo|ct,
. bitee R7IE K21 2

Cf of ojojoct,

=59/ gelo] == of ojojo|c,

» English Usage

A

A

1

g N~ ODN

1

. well-known for :
. between A and B : A2t B A
. tell A from B : A2t BE FE5iCt
. Within ~ - |

~5{ofat
to2 a0}

ol

ICf = ololZ LIER mf 0)2iSS will have

El

ct,

(E, Ak 72, ¥

. doL} doesZ Alfleh= QIER20AM F0 TS0l SAE

30| LIREZ hasE havez IA0f St

"2t L 2 different from 0|22 {05 fromQE 11
0F it

~of0F2t SICE = 2I0IE LiEfti= muste 2A-0] gle
92 1AHE LE THe had toS AFE5H0d LIERHT
~0f W23 9 2oiE LIEHY| 2l6iAl= (according
to + HADI| 2folsiez asE to2 TLXof it

~&t ZRIt gty = don't have to0|22 mustE

L] &

as2 2= Aol/| floiM 2= Al Yo{oF SR gt
27

. 124, S0l A0S 2 1, 2XE =0|X| 2ot

4 9420 = OUjol, 2= SES0| CF Al2bRCt

Ct
NES2 ES0| X722 0 E2| BojM o &

Answer Key
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CHAPTER 6

Technology

Unit 1. Invention

Vocabulary Preview p.127

A 1. flight 2. invent 3. repair
4. experiment 5. repeat 6. article
7. succeed 8.light bulb 9. filament
10. improve

B 1.c 22a 3.d 4b b5.e

& oy

invent 2&stCt experiment A& sicf, A
light bulb &+ repeat Pr=ofct

repair <~2/3fCt article 7|At

flight H|& succeed <&t

last X|&5/Ct
develop ZT5ICt
glow SLiCf, Efct

improve 7iM=[CF
replace WAoiCt
standard #Z, 7|&

Reading 1 p.128

1.® 2.0 3.® LD
Visualize the Text

(1) experiments (2) failures

(3) light bulb (4) better

(5) filament (6) longer

LEIM=A] G11 ALIR? WolR, E0RA At ofcl
0lZ, oftiz2 1847E0] EfOROIR. = AEts Solf RSt Al
_I

S USOLHZ| 2l

Answer Key

olci22 187810] OCiR U ERIR0|ES AL 18794
ol SCiof TS UISOHE 2 T o Bh Taies
OIBRBLICE 0] F= 13ARE O BhaUCH 120 SIAOfA
02 SE AIRISS AR BX J2n MMIp 22 2 9y

= Hi o= —

== Moty 2REUt,

T FFE J1A6H0F 40A12E H=E XIEEIRU] mhEoll MEHER O
L2 H+12 sisUch T2l oE ZHefHEZE HEEUAE
191010 22|y Ho[H|= 22(X|9 FAH HAMETL BE E
& HRMHES tiAsH =/UEHDL 242 W ¢ 2383et &
= &

(2r#)

1 # 22 ool x5 H7E &I 1ds olop[et 20|

4 ojciz2 T Lo Ba HeRIES o) dEY 0l o
OH|= 22|XI7t HAH H2fHE=R UiX6IHM o 22H7=
ot ERie Bz @sH9| Hre ofol20] EHer A

IRz X0 USE FEY 5 AU,

@& However, he never gave up.
«give up : Z7|5ICk

@EY His helpers at the light company spent time
developing other inventions such as
switches, fuses and wires.

s spend + AlZF+ v=ing : ~3HH A)ZIS ELHCH

*such as : (GIE S0f) ~ot &2

@ In 1910, William David Coolidge replaced the
standard carbon filament with a tungsten
filament.

e replace A with B : A2 B2 HMCHCHRIGICE

WA
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Reading 2 p.130

1.@ 2.3 3.® 4.3

Summarize the Text
(1) flying in the air

(2) studied hard

(3) tried new gliders

(4) for a very short time

(5) kept improving

=D

1800t =8 o2l 221} 2l 20|Es s ViK1 =TM
Hito cfet B2 71 2l0I1E Yrle XA se2lds 2

Cer 7IMES U,
T2 1900E0] =AHE2H0|LE2| 7|E|539| Bf HelEoi| M
S0| HHn| S2I0|HE Algiict 252 Algls flslil 2 i
HIE MITCE SEXIZH1901ERE 19037 ERSE 7IEl=
3ot & A0S i 259 AE HIg2 Fd O d30f 717t
YRCE 2= 1903 128 170 210[E SH|Sf 248 i b0
dE= 7FACL 2 2l0[ET HA B[ (o SR 1227F H]

A,
191201 FH7F F2 7 359 2SS AL ST DY
t

20| of 220| =ACt, Y2 1948H0f 77M|e] LIo|= =

EEER)

1 ¢ 22 20IE APt g7 eFst & 2kgS ojop|

ol

I

£Q
O

2 9 = = 9 ==l 1903E 128 17 20|E Fxilel A
f

3 OHxjt Sl s 191200l E3m WS 194850
F9ICHT oo 9%0| of Q7 AUSS U 4 ULk

4 EI0E = 021 AR SIS JHXID SBA Bllof chet B

S JHA| AT, 74 1 BS 0127| S =2ito] o
H

[27 15 LHotA| =Uct

@Y 1n the late 1800s, young Orville and Wilbur

AnswerKey

Wright dreamed of air travel as they played
with their kites.
«dream of : ~& &Lt
cas . ~ofl U2 [ff, ~5HHA

@& They worked hard at the shop and kept
reading articles about gliders.
* keep + v-ing : AlSSHA ~SHCt

Unit 2. New Technology

Vocabulary Preview p.133

A 1.remember 2.useful 3. mobile
4. future 5. library 6. post card
7. tiny 8. information 9. example
10. surgery

B 1.b 2.e 3.¢c 4.a 5.d

£ o3
remember 7 |45iCt mobile 0155k=
library AR post card A

information =

tiny Ol 22

surgery +&

tap (1) E5 F=eltt

example (2%, SE= 218 of
future 024

useful &8¢t

simple 7=t

fix ox|ct unpleasant =3ef

amazing S22

Reading 1 p.134

1.@® 2.3 3.@ 4.

Visualize the Text

(1) library (2) tap (3) postcards

(4) email (5) turn
ADEZES GHlo MEs U2 HolM HAZICE FA0| x|
Mg EES FMEA] 7[ok=71? Foit B2 HeE AU

Answer Key
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=X 2t

ADEZ OH0f G2 BUME M7| ffahM =AMl 7I0FY

L OldlE A32lE Feald G40 Heet HE2E HE &+ 0

Mol RE oS G2 TS0 BME BRI

t OlMl= OIF2E oM 2l AREIS oz 2 4~ 9l

f Holls RAHICIRE 271 ffsh TVE ZiUCE Oldl= ADIE
)

.
M SEE @2 Ecalnt sl gie JHEAH|e)S
A
T

n

[

0

21
=

Uy
2

20
__lT‘_
o
mn
)
i
i
0
|
oy
pal
52
ro
AN
=

1 ¢ =22 ADEES MEsl7| Tat Arget

FAE o 4 Qltke A FEY et 2= HAUK] Tt

S8 32 4 Uckn Yoo, them HIZ U SO
C

videosE 7t2|7ICt,

[Hol= TVE Zi=d|, Oldlz AOEEZS| FRE
(@)

Ol

[«=)
musi

@Y Do you remember when you got your first

mobile phone?
< OFAEO| CHE =&l URE AAxE= ZFYHY

zee (AZAL + F01 + SAH Q| Y

@& Let's take a look at how much things have
changed.
- take a look at : ~& ECt

@Y Now you can email photos of yourself in
front of the Eiffel Tower.
«in front of : ~2| 0l
2¥ Now you can enjoy them by just tapping on
the YouTube app in your smartphone.
s by + v=ing : ~EO2M
+tap on : ~2 71| FE2|ct

Answer Key

Reading 2 p.136

1.0 2.9 3.3 4 O

Summarize the Text

(1) so small that you cannot see them
(2) to make tiny robots

(3) fix problems

(4) many dangerous and unpleasant

22| Mol A=z B2 AS0| FH Ao ACH HFEL &
tiHet £2 olsolct 2 =2 oid 8 of XopEict 2Lt
Olx| ofH 252 F= Za0tehX|w UCh nteiXiESE OfX| Lt
L ePles olgsh Mz2 7IHES TE 4 o U 717
= 019 27| hizol, a2 ads =22 = 4 §lth

A5 &2, XS0 U aellss S5l 015 et 717
St s 4 UAS F0[Cf Oj2kol, 252 ofot o RET 7|
s= U7 2 Aol wefiEe a0 U Jiss 018
=48 2RE US 4 WIS HIZIL 02{8F 48 2RE2
<2[9] M| oM HSE 4 S Xoltt. 252 &= oiXl
e 22| M| LRoIM et 2rEs 1E 4 s A0
Ch ESH L 2RS2 00 227} 5l U= ot =3fet

227
250 U2 222 (tid)s & Aolch,
(EXET)
1 9 22 U= 720 tiet Ligs 43sk= S0Ich

2 0| = F g TN L 7|82 0l88t S48 2RE2
2| A RN s 4 0] 2o »2 8l0] 22

A
LA LHROIM 2t EHISE 0E 4 US A0 AT

Il

3 % 20N TeRIE0| U TIaE 0l88 S48 2R T
S 20fIH, Ol2fer 2R0| MK HRolM Ldst EXIE
= 18 2 A= Aoj2t X2 HHo|M i AES0[2t
= &2 gltt

[

4 OHFRE @74 Q=48 2R @ LSkt
ool o FEet 7IAE 2E A0[RI FeOR theys =

AL QF ER0| L2 TFStAtS(scientists)E 7217 ICt

@Y Many things in our world are getting smaller.

—
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* get + At (~Of HEHT) EIct

@& They could fix problems in our bodies

without surgery.

*can ~ without ... : ---glO] & 4~ QUCt,
p.138
A 1.surgery 2. useful 3. Electric
4. experiment 5. example

B 1.® 2.0 3.9

C 1l.remember 2.mobile 3.tiny
4. improve 5. invent

A 1. with 2. crying 3.on
4. of 5. cold

B 1.new something - something new
2. off --» on
3. invent --» invention
4. have --» has
5. did he come --» he came

Making Sentence

A 1. they played with their kites
2. how much things have changed
3. will probably make more useful machines
4. spent time developing other inventions

5. when you got your first mobile phone

(EXET)

» Vocabulary

A 1. 2dE 24 20| 23420
2 0| M2 SB5t HH2 JIS A UL,
3, % |

4 <2

AnswerKey
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AES0A E2 22712 20 F0{0F eI,
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C 1. remembere THZEE ARIOL 22712 HE2ICH
o| ojgjolct,
2 mobile2 o HA0A O2 FAZ SEY £ U= 9
olojo|ct
3 tiny= 37ILt YOl OFF 229 9o
4 improves o £2 AEIS 2HE0{UCE 9f 9f
5. invente " MY MSS2 PHEIL FESICE 2 ojojolct

» English Usage

A 1 replace A with B : AZ B2 HIRCHOAIGIC mAIGHCH
2. keep + v-ing : Al&sHA] ~BICH

3 turn on the TV : TVE 7HCt

4 get + SZAF: (~9 METD =T

B 1. —thingez ZUE U2 AW} FHolM RHFEZ
new somethingE something newz= TIX{0} ST,
2. LY HYM ofofzig itk 2ot 2= Z0] XA
HREZ offS on9Z 1X0f St
3 LA ‘HH ol2ks HAZE 210F 22, inventE
invention@=2 1x{0F St
4 047} Technology2 3218 H4-0|22 haveE hasZ
0X0F Bt
5 HHOEEE (CIZAF + 0| + SAHC| 0ix=0] =l0{0f
Sf22 did he come2 he camel= TIAOf S,

» Making Sentence

A M HIgoll tiet &= 7IFCH

O A A
]
2
=
1=
o
sl
_[ﬁ
ro
o
=]
inl
40
00
rol
S0
>
min
mjo
ra
uin
SN
=
Inl

: X*?LRIMOHH OS 5 AEE2 UE dHE5S MYst
0 249ict,

5 G2 2N MEe= eEs FURMER] 7ok=rt?

Answer Key
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CHAPTER 7

People & Origin

Unit 1. People

Vocabulary Preview p.143

A 1. trick 2. behind 3. secret
4.handcuffs 5. carefully 6. magic
7. perfect 8. travel 9. safe
10. breath

B 1.c 2b 3.d 4.a b5.e

& o3
tick &4 handcuffs +2
magic 0t& travel G43lf5ICtH

perfect 225t

secret H|Zo| H|Y
breath &, &

mostly &2, YgHo=z
notice F=otCf, LOER{C

step &iCh S=l0|ct

carefully 22|
safe Q&G
behind ~2| o]
escape 2=6ICf

nervous =Zxalst=

Reading 1 p.144

1.@ 2.9 3.0 4 O

Visualize the Text
(1) escape

(38) famous
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= orto
e BE M

-
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O|X| 4UtTt 2 mf, st

Answer Key
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FLUOIME HHUE 4 U= Al

(2) successful
(4) handcuffs

atiz| =0

xE BOPESI. T2l Pl X

2 ofH BRI Kt

n2
il
o

a9 =geg, 2rhUs tEA | 1 O 5 32,
J= iR AR RFEoIM EXICH 27t 0222 S013s
M, 2= =HHR! AEZF ZRATY 10| 7Y
HHOFOIMRACE, O AtO| et s TSACEL IAS
=0 5E9] Ajlgho] ZitH SrU= I ZoflM of AlZi= Qtef

HFA LRAC

EXET)

1 © ?thet ==

@ RFet o=t

Q@ REet of=

@ fIthet 2= Ha

P 22 et EE°| =2 LA o2 =CiUof et =2
olct,

| sii2] =CjUE W2 okes ¥ 227t 28 25

—
P2 7|eitin eoz O= HE Oks 0[] CHE

mostly= F2, Yo 2 k= 2[o[0]H largely, mainly,
generally 25 Z2 2JD[o[ct actuallys “AMZE, FY=2
9| oln|z ctZ2 2oojo|ct,

@Y An escape artist can get out of any kind of

lock or handcuff.
+ get out of : ~OflM LEZICk

@ But he was not successful until 1899.
e not ~ until -+ 1 --M{ZEK| ~SEX| KLt ( ---0]

1 H|Z2A ~5io)

EEY With his help, Houdini quickly became
famous.
+ With one’s help : ~o| =822

—
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Reading 2 p.146

1.® 2.3 3.© 4 @

Summarize the Text

(1) big and very heavy handcuffs
(2) to keep his tricks secret

(3) escape from them

(4) his name was safe

=D

sizle Roiz 201 Lgitt 2= ol ZERXLL J2i= Re
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AnswerKey

G Two men came up and put the handcuffs on
Harry.
- come up : CPPiCH

@ Harry wanted his tricks to be secret.
s want + =H0{ + to-v : FH0It ~o1 IS ottt
@ Harry took a deep breath.

« take a deep breath : (2H)) MNEE5tct

Unit 2. Origin

Vocabulary Preview p.149

A 1.probably  2.needle 3. popular
4. tongue 5. pierce 6.ride
7. poem 8. wave 9. prayer
10. practice
B 1.a 2b 3e 4d 5.c
& oy
popular 27| U= tongue &
probably oot needle =
pierce (#=3H 7|712) ECF wave o=

poem Al prayer /|==
practice ¢1&aict ride EfCt
mark HA[GHCH area A9
religion 1l almost 712
stay HF2C}
Reading 1 p.150
1.@ 2.3 3.@ 4 @

Visualize the Text
(1) ink (2) holes
(4) show (5) mark

(3) histories

Answer Key
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@€Y Intattooing, people put ink into their skin
with needles.

—

+in doing something : ~oH= IPY0| A, ~& f

@& Both body piercing and tattooing have long
histories.
+both A and B : A% B = Ct

Answer Key

@ For example, the Surma people in northern
Africa use body piercing to show their
importance.

*to showe= 'HOF7| 2l 2= onlz2 =Xg

LIEH = toREARTY.

Reading 2 p.152

1.0 2.2 3.@ 4 @

Summarize the Text
(1) a popular sport

(2) in Hawaii

(3) wave sliding

(4) their religion

(5) still important
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@Y From California to Australia, you can find
surfers riding the waves.
=210 S0
«find + SX0] + SR : ~It k= AE Y
ZASICF 9] oln|2 o7 |M= surfers?t 2X0{0|1
riding the wavesZt S,

@&J One of the most important surfing areas in
the world is Hawaii.

sone of the + Z&Z + S4LHAL ~ © JHEE ~5t

ol

52| Bt
The Hawaiians called surfing He’e nalu
(wave sliding). =50 =520
ccall + B8O + EXE0{ : ~g -2tu 220
o] o|n|2 047 |Me surfing0] 2X01, He'e nalu
(wave sliding)7F 2XE0{Y

p.154
A 1.notice 2. handcuffs 3. tongue
4. practice 5. escaped
B 1.® 2.0 3.3
C 1.perfect 2. pierce 3. carefully
4. prayer 5. trick
A 1.tohelp 2. much 3. of
4. With 5. trying

B 1.hear-- to hear

2. cook --» cooking

AnswerKey

3. has --» have
4. much --» more

5. could not --»» could

Making Sentence

A 1. wanted his tricks to be secret
2. remember him as an escape artist
3. there are still some ancient cultures
4. a popular sport at beaches

5. body piercing to show their importance

(EXETE))

» Vocabulary

A 1. HE D0 ofE #ist Qs e LOorRL?
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2 pierce= Rt A2 72 =0 = 2ojo|ct,
3 carefully= "MEXR! dofl X2 FolE 7120k 2| 9
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4 prayer= =22 ToOIAL ZAE ST AojA| Yot

277 9| ofofo]ct,
5. trick® F=7t5 £0(7| ¢

ror

b3 9l ofojo|ct,

» English Usage
A 1. want + X0 + to-v : BX07} ~5I7IZ 6IC
2 Hugg Zd=xsid W H~'9f oolg LE fH A2
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. get out of : ~0f A LIZICH
. With one’s help : ~o| =202

[

. in doing something : ~3k= TP

w
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. BH07E ~5IE "t = (want + 2X0] + to-v)
0|22 hears to hear2 X0} SiCt
2 ~5tk= EOA 9 oolE UERHY] M= in + v—
ing7t =|0{0f Bt22, cookE cooking@Z ITXOF SiCt,
3. both A and B= ‘A% B & CF 9] 90|22 E43A7t @
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notZ ok et

» Making Sentence
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